(]

31908 - T& ATEAT (R HiTEA & T § [0 av FT I8 AT ®GIT 2

29

9 9 1T & AT & [ AT & (AU SSEq T il (o= AT afod 7, g 87 39 31 d & a8 5 47
Fa I AT AT dl TGRS & oI, Taidh a8 9 e 7 4T, AT Iq= Fdl d <@T ar F47 98 atora
F5T=F (=) T T3 AT IT F T @I AT a8 F9T SO ?

feega saT

&Y WAL &l T9HET 31 AT dde odATe Tl & [0 IT & 1.

I (AT I T (TEATHT FAFH A QA (AT -HTTHAT G AT, TFAT S-IT-3TATal
g AT EdhT, THRAGCATAT AT T-AGHA ARIR) T 7 HI5 AT &1 &, T Iqd FIT HIS A8 &l
&, T (T I FET T (AT &7 ST T51 [T 97 37T T &7 98 Sferea = & v s, gfced 95 f[Sar 50 &
IHE I T AT 7 |

1/1


https://archive-1446.islamqa.info/hi/answers/31908/%E0%A4%8F%E0%A4%95-%E0%A4%AE%E0%A4%B9%E0%A4%B2-%E0%A4%95%E0%A4%B8-%E0%A5%98%E0%A4%AC%E0%A4%B0%E0%A4%B8%E0%A4%A4%E0%A4%A8-%E0%A4%95-%E0%A4%AA%E0%A4%B8-%E0%A4%B8-%E0%A4%97%E0%A5%9B%E0%A4%B0-%E0%A4%A4-%E0%A4%95%E0%A4%AF-%E0%A4%B5%E0%A4%B9-%E0%A4%B8%E0%A4%B2%E0%A4%AE-%E0%A4%95%E0%A4%B0%E0%A4%97

